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Instructions to Candidates

Write your name, index number and class in the spaces above.

Answer all questions.

Write your answers in the spaces provided on the question paper.

If working is needed for any question, show it in the space below that question.

Omission of essential working will result in loss of marks.

Neither electronic calculators nor mathematical tables may be used in this paper.

INFORMATION FOR Candidates

The number of marks is given in brackets [  ] at the end of each question or part question.

The total marks for this section is 50.
1. Evaluate
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Answer
(a)
….………...……
[1]



(b)
……….…...……
[1]

2. Simplify
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Answer
(a)
….………...……
[1]



(b)
……….…...……
[1]

3. Given that 
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Answer
(a)
….………...……
[1]



(b)
……….…...……
[1]

4. On May 1, 2001, Alice was 2 years 6 months old and Berry was 1 year older than twice of Alice age. Find

(a) Alice’s age on January 1, 2002,

(b) Berry’s age on May 1, 2002.


Answer
(a)
….………...……
[1]



(b)
……….…...……
[2]

5. In a clearance sale, all prices are reduced by 40%.

(a)
Find the price in the sale of a television, which normally cost $500.

(b) A DVD player is bought in the sale for $150. Calculate the normal price of the DVD player.


Answer
(a)
….………...……
[1]



(b)
……….…...……
[2]

6. (a)
The map is drawn to a scale of 1:25 000. A railway track is 50 cm long on the map, find the actual length of the railway track in kilometre.

(b) The area of a rectangular field is 840 square metres, express the area of the rectangular field in square kilometre, giving your answer in standard form.


Answer
(a)
….………...……
[1]



(b)
……….…...……
[2]

7. At 10 pm, the temperature is 10oC. At 2 am, the temperature drops to –2oC.

(a) Find the difference between the two temperatures.

(b) Assuming that the temperature falls at a steady rate as time pass, find

(i) the temperature at 11.30 pm,

(ii) the time when the temperature is –1oC.


Answer
(a)
….………...……
[1]



(b)
(i) ………...……
[1]




(ii) ………...……
[1]

8. Factorise each of the following completely
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(b) 
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Answer
(a)
….………...……
[1]



(b)
……….…...……
[2]

9. Solve each of the following equations:

(a) 
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(b) 
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Answer
(a)
….………...……
[2]



(b)
….………...……
[2]

10. In the diagram, BC is parallel to DE.

(a) Prove that triangles ABC and ADE are similar.

(b) Given that 
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cm, calculate the length of DE.

Answer
(a)





[2]



(b)
……….…...……
[2]

11. In the diagram, the line 
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 cuts the y-axis at A and the x-axis at B.

(a) Write down the coordinates of the points

(i) A,

(ii) B,

(b) Calculate the area of triangle AOB.


Answer
(a)
(i) ………...……
[1]




(ii) ………...……
[1]



(b)
……….…...……
[1]

12. The frequency table below shows the weight of the girls in a class.

	Weight (in kg)
	45
	46
	47
	48
	49
	50

	Number of girls
	2
	x
	8
	6
	3
	3


(a) Given that the modal weight is 47 kg, state the maximum value of x.

(b) Given that the median weight is 47 kg, state

(i) the minimum value of x,

(ii) the maximum value of x.


Answer
(a)
….………...……
[1]



(b)
(i)…….…...……
[1]




(ii)…….…...……
[1]

13. The following frequency table shows the marks of a class test.

	Test marks
	5
	6
	7
	8
	9

	Number of pupils
	3
	x
	6
	y
	1


(a) Given that the total number of pupils in the class is 20, form an equation in x and y.

(b) Given also that the average mark for the class is 6.9, form another equation in x and y.

(c) Solve these simultaneous equations for the value of x and of y.


Answer
(a)
….………...……
[1]



(b)
……….…...……
[2]


 
(c)
….………...……
[2]

14. (a)
The interior angle of a n-sided regular polygon is twice its exterior angle. Calculate

(i) the interior angle of the polgyon,

(ii) the value of n.

(b) The figure shows nine squares with two of them shaded. Complete the figure by shading the small square(s) so that it has exactly 2 lines of symmetry.


Answer
(a)
(i) ………...……
[1]




(ii) ………...……
[1]



(b)





 
[2]

15. The diagram shows two concentric circles, centre O, radii 7 cm and 14 cm respectively. Given that 
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(a) the area of the minor sector OCD,

(b) the arc length CD,

(c) perimeter of the shaded region.


Answer
(a)
….………...……
[2]



(b)
….………...……
[2]



(c)
……….…...……
[2]

End of Part 1
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